


Stückliste

35-T7400080 Schraubensatz

A

D

C

B

a

b+c+d+e

f

g+h+i

1x Grundträger links    ( A )
1x Grundträger rechts ( B )
2x Scheinwerferhalter ( C )
2x 35-7906212EM 
     Rigid LED Scheinwerfer ( D )

6x Schraube M8x25  (a)
6x U-Scheibe M8  (b)
6x U-Scheibe M8 x20 x1,4  (c)
6x Federring M8  (d)
6x Mutter M8  (e)

4x Flachrundschraube M6x16  (f)
4x Scheibe 6,4x15x1,5  (g)
4x Federring M6  (h)
4x Mutter M6  (i)





3

AB

a+b+c+d+e

4

C

f+g+h+if+g+h+i



5

D

D

6

50 mm 60 mm



7

60 mm

50 mm

8




